

Republic of the Philippines Province of Iloilo MUNICIPALITY OF CABATUAN Tel. No. (033) 522-8530/Telefax No. (033) 522-8940

OFFICE OF THE MUNICIPAL MAYOR

NOTICE TO PROCEED

April 11, 2023

Ms. MARIBEL AMO
Authorized Representative
THREE N' ONE ENTERPRISES.

1ST St., Lawaan Village, Balantang
Jaro, Iloilo City
Tel. No. 5093962

Madam:

The attached Contract having been approved, notice is hereby given to THREE N' ONE ENTERPRISES that work may commence on the contract: PR No. PR No. 2023-01-0017; Procurement of Various Physical Fitness & Sports Equipment, Furniture & Office Equipment, Audio-Visual & IT Equipment, Musical Instrument and Board Games for official use of Ambrosio Maido Nat'l High School Teen Center, Brgy. Jelicuon Montinola, Cabatuan, Iloilo, effective upon receipt of this notice.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and in accordance with the Implementation Schedule.

Please acknowledge receipt and acceptance of this notice by signing both copies in the space provided below. Keep one copy and return the other to the Local Government Unit of Cabatuan, Iloilo.

Very truly yours,		
ELIZALDE G. PUERO, N.D. Municipal Mayor		
I acknowledge receipt of this Notice on	4-12-2023	
Name of the Representative of the Bidder:	Tourism	
Authorized Signature:	1	

			PURCHASE OR MUNICIPALITY OF CABATUAN		
Supplie	THR	EE N'	ONE ENTERPRISES	P.O. No.	2023-04-038
Address	: 1st S	t., Lawa		Date:	April 11, 2023
		Mode of Procurement:	Public Bidding		
Gentele	men:				March 6, 2023
Pleas	se furnisl	h this of	fice the following articles to the terms and conditions	s contained herein:	
			Iaido Nat'l. High School, Brgy. Jeliocuon Montin		
		-		ola, Cabatuan, 11000	
			ays upon receipt of approved Notice to proceed		
			rocurement of various Physical & Sports Equipmewn al Instrument & Board Games for A. Maido Mem. Na		
Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
I. Fur	niture a	nd offi	ce Equipment		
1	1	unit	Sala Set, 1-180x80cm, 1-120x80cm, 2-40x40cm with Center Table	13,460.00	13,460.00
2	1	unit	Steel File Cabinet,4-layers, gray color, uni-lock	13,000.00	13,000.00
3	g 1	unit	Long Table (8 seaters, plastic, folding, gray colow/ steel stand), Lifetime	7,500.00	7,500.00
4	1	unit	Teacher's Table (115x68cm,with center drawe w/ chair, wooden),Local/Sanyang/Mandaue	rs 5,500.00	5,500.00
5	4	sets	Rubber mats (60x60x.75cm)	360.00	1,440.00
6	2	units	The second control of	8,500.00	
7	15	pcs	Monoblock chairs, gray color (Ruby)	550.00	
			I aw Table (laminated folding w/ steel stand		

10	1	unit	Euricka/Hanabishi	7,500.00	7,500.00
11	2	units	Medicine Cabinet (Wall Mounted, (35cmx35cm)	500.00	1,000.00
12	1	unit	Fire Extinguisher (5 lbs), Lacson	1,800.00	1,800.00
13	1	unit	Wall Clock (Wall mounted)	600.00	600.00
14	1	рс	Container)	1,500.00	1,500.00
15	- 1	unit	Whole Body Mirror (155x44cm, w/ Stand)	1.950.00	1.950.00

[Amount in words]

9

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Sub-Total

3,000.00

6,000.00 8,400.00

94,900.00

Conforme:

THREE N' ONE ENTERPRISES Signature over printed name 4-12-2022

80x40cm)

units Wall Fan (16"), Hanabishi/Asahi

Date

PURCHASE ORDER

MUNICIPALITY OF CABATUAN, ILOILO

Supplier:	THREE N' ONE ENTERPRISES	P.O. No.	2023-04-038
Address:	1st St., Lawaan Village Balantang, Jaro, Iloilo City	Date:	April 11, 2023
		Mode of Procurement:	Public Bidding
Genteleme	en:		March 6, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: A. Maido Nat'l. High School, Brgy. Jeliocuon Montinola, Cabatuan, Iloilo

Date of Delivery: 30 days upon receipt of approved Notice to proceed

PR No. 2023-01-0017: Procurement of various Physical & Sports Equipmewnt, Furniture and Office Equipment, Audio Visual & IT Equipment, Musical Instrument & Board Games for A. Maido Mem. Nat'l. H.S., Cabatuan, Iloilo

Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
II. Aud	io-Visu	al Equip	oment & IT Equipment		
1	1	unit	Computer Set w/ Accessories Specs.i3, 8g RAM, 240gb SSD	17,800.00	17,800.00
2	2	pcs.	Wired Microphone, Kevler/MRM	2,300.00	4,600.00
3	1	unit	Public Audio System with Wireless Microphone, Bluetooth, usb, amplifier, 15" (DB Audio)	15,400.00	15,400.00
rrr ph.	raigal E	itmana I	Equipment & Sport Equipment	Sub-Total	37,800.00
1	ysicai r		Iron Spinning Bicycle Slim (Stationary Bike, heavy duty, manual)	6,500.00	6,500.00
2	. 3	pcs	Jumping/Skipping Rope BK-108B-B	900.00	2,700.00
3	2		Figure Twister (light weight & compact, plastic twist)	3,500.00	7,000.00
4	2	units	Multi-Way Exercise Wheel (flexible PVC)	1,600.00	3,200.00
5	1	unit	Life Gear Motorized Treadmill(1.5 HP, speed- 10mph or higher)	11,240.00	11,240.00
6	2	units	Body Sculpture Gym Ball (dust resistant)	950.00	1,900.00
7	6	pairs	Body Sculpture Soft Dumbbell (5 lbs)	1,500.00	9,000.00
8	4	pcs	Yoga Mat (rubber, 6ftx2ft.)	450.00	1,800.00
9 ·	-5	pcs	Hola Hoop	600.00	3,000.00
10	2	units	Iron Gym (metal frame, foam padding for gripping)	1,050.00	2,100.00
11	5	pcs	Set-up Assist (steel w/ rubber, foam handle,	450.00	2,250.00
12	1	рс	Volleyball Ball (Leather) Mikasa	4,500.00	4,500.00
13	1	pc	Volleyball Net (nylon w/ cable), Super K	980.00	980.00
14 LAmou	1 int in w	set	Badminton Set (2pcs Rocket and 1 tube feather shuttle cock, 12's/tube), Yonex	3,500.00	3,500.00

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Conforme:

THREE N' ONE ENTERPRISES

Signature over printed name 4-12-2023

Date

Very truly yours

Municipal Mayor Authorized Official

PURCHASE ORDER

MUNICIPALITY OF CABATUAN, ILOILO

Supplier:	THREE N' ONE ENTERPRISES	P.O. No.	2023-04-038
Address:	1st St., Lawaan Village Balantang, Jaro, Iloilo City	Date:	April 11, 2023
		Mode of Procurement:	Public Bidding
Genteleme	en:		March 6, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: A. Maido Nat'l. High School, Brgy. Jeliocuon Montinola, Cabatuan, Iloilo

Date of Delivery: 30 days upon receipt of approved Notice to proceed

PR No. 2023-01-0017: Procurement of various Physical & Sports Equipmewnt, Furniture and Office Equipment, Audio Visual & IT Equipment, Musical Instrument & Board Games for A. Maido Mem. Nat'l. H.S., Cabatuan, Iloilo

Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
15	1	рс	Badminton Net, Super K	980.00	980.00
				Sub-Total	60,650.00
IV. Mu	sical In	strume	nt		
1	1	unit	Portable 61 Keys Keyboard, Yamaha	30,000.00	30,000.00
2	1	set	5 pcs Drum Set , Global	24,500.00	24,500.00
3	1	unit	Acoustic Guitar	10,500.00	10,500.00
4	1	unit	Electric Guitar	12,250.00	12,250.00
5	1	unit	5 String Electric Bass Guitar	14,750.00	14,750.00
6	1	unit	Amplifier for Electric Guitar	12,000.00	12,000.00
7	1	unit	Amplifier for Bass Guitar	14,500.00	14,500.00
	9			Sub-Total	118,500.00
V. Boa	rd Gam	es	Y		
1	3	pcs	Equalizer (A Math Game), (generic)	1,200.00	3,600.00
2	.3	pcs	Scribe Age, (generic)	780.00	2,340.00
3	3	pcs	Domino (standard, wooden)	450.00	1,350.00
4	3	pcs	Cross Word Puzzle	300.00	900.00
5	3	pcs	Cash It (Strategic Thinking Game)	1,125.00	3,375.00
6	3	pcs	Chinese Checkers	650.00	1,950.00
7.	3	pcs	Snake and Ladders	350.00	1,050.00
8	2	sets	Chess Board (wood, big) tournament size	1,050.00	2,100.00
9	3	pcs	Battle of the Sexes	653.00	1,959.00
10	3	sets	Scrabble	600.00	1,800.00
11	3	sets	Monopoly (generic)	550.00	1,650.00
12	3	sets	Pressman Checkers	2,000.00	6,000.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Conforme:

THREE N' ONE ENTERPRISES

Signature over printed name 4- [2- 2023

Date

PURCHASE ORDER

MUNICIPALITY OF CABATUAN, ILOILO

Supplier:	THREE N' ONE ENTERPRISES	P.O. No.	2023-04-038
Address:	1st St., Lawaan Village Balantang, Jaro, Iloilo City	Date:	April 11, 2023
		Mode of Procurement:	Public Bidding
Genteleme	en:		March 6, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: A. Maido Nat'l. High School, Brgy. Jeliocuon Montinola, Cabatuan, Iloilo

Date of Delivery: 30 days upon receipt of approved Notice to proceed

PR No. 2023-01-0017: Procurement of various Physical & Sports Equipmewnt, Furniture and Office Equipment, Audio Visual & IT Equipment, Musical Instrument & Board Games for A. Maido Mem. Nat'l. H.S., Cabatuan, Iloilo

No.	Qty.	Unit	Description	Unit Cost	Total Cost
13	3	sets	Sequence Game	400.00	1,200.00
14	3	pcs	Taco Cat Goat Cheeze Pizza	500.00	1,500.00
15	. 2	pcs	Exploding Kittens	600.00	1,200.00
16	3	pcs	The Settlers of Catan	750.00	2,250.00
17	3	pcs	Codenames	600.00	1,800.00
18	3	pcs	Ticket to Ride	1,300.00	3,900.00
19	3	pcs	Farkle	2,105.00	6,315.00
20	3	pcs	Qwirkle	1,529.00	4,587.00
21	3	pcs	Telestrations	923.00	2,769.00
22	3	pcs	Exit	375.00	1,125.00
23	3	pcs	Escape Room	1,725.00	5,175.00
24	3	pcs	Anomia	2,400.00	7,200.00
25	20	pcs	Classic Pocket Books, Mr Sues	100.00	2,000.00
26	1	set	Drawing Materials	4,705.00	4,705.00
			nothing follows		
				Sub-total	73,800.00
				Total P	385,650.0

[Amount in words] Three Hundred Eighty Five Thousand Six Hundred Fifty Pesos

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Very truly yours,

Authorized Official

Conforme:

THREE N' ONE ENTERPRISES

Signature over printed name

4-12-2023

Date